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MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)
DECIMALS
Solved Example
1. Express the numbers 2 L §) 17 and
2P N 10’ 100
29 ,
18 as decimals.

1000


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rGinhv7O2Cad

° Watch Video Solution

2. Convert 53, 719, 0376 and 84 into like

decimals.

o Watch Video Solution

3. Arrange the digits of 269.374 in the place-
value chart. Write the place value of each digit.

Also, write 269.374 in expanded form.

o View Text Solution



https://dl.doubtnut.com/l/_rGinhv7O2Cad
https://dl.doubtnut.com/l/_mNONCB4x8FfF
https://dl.doubtnut.com/l/_hx1KyuJuf5Ow

4. Compare 63.84 and 57.98.

o Watch Video Solution

5. Compare 24.7 and 24.58.

A.24.7 > 24.58

B.24.7 < 24.58

C.24.7 > 24.58

D.24.7 < 24.58


https://dl.doubtnut.com/l/_hx1KyuJuf5Ow
https://dl.doubtnut.com/l/_i42v4alJXDae
https://dl.doubtnut.com/l/_vWBhSXBHe4wM

Answer: A

o Watch Video Solution

6. Write the following decimals in ascending
order:

4.83,6.07,0.9,0.465 and 74.

o Watch Video Solution

7. Convert the decimals into a fraction in its

simplest form: a. 0.4 b. 0.25 c. 0.06 d. 0.75 e.


https://dl.doubtnut.com/l/_vWBhSXBHe4wM
https://dl.doubtnut.com/l/_iWateuhJvx9F
https://dl.doubtnut.com/l/_U6HyMVUhCWBg

0.625

o Watch Video Solution

8. Convert the decimals as a mixed fraction:

7.5

° Watch Video Solution

9. Convert the fractions into a decimal:

17

a.l—O

L 239
" 100


https://dl.doubtnut.com/l/_U6HyMVUhCWBg
https://dl.doubtnut.com/l/_CW2kQfB4F1Xu
https://dl.doubtnut.com/l/_1EYI8pLjRRBu

2103

100
3001

" 1000

C.

° Watch Video Solution

10. Convert T into a decimal fraction.

° Watch Video Solution

11. Convert 4§ into a decimal fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_1EYI8pLjRRBu
https://dl.doubtnut.com/l/_y7lrNBbDwuj9
https://dl.doubtnut.com/l/_67iHgDC3jK79

12. Convert 154—0 into a decimal fraction.

o Watch Video Solution

13. Convert %5 into a decimal fraction.

A.0.024

B.24

C.0.24

D. None of these


https://dl.doubtnut.com/l/_0SS91B5EHTtx
https://dl.doubtnut.com/l/_qomswG9wKB7Y

Answer: C

o Watch Video Solution

14. Express in kilograms, using decimals:
a.2kg 348 g

b.5kg35g

c.78¢g

d.5g

o Watch Video Solution



https://dl.doubtnut.com/l/_qomswG9wKB7Y
https://dl.doubtnut.com/l/_HKQ1lSBUEkYZ

15. Express in kilometres, using decimals:
a.5km 245 m

b.9 km 46 m

Cc.435m

d.56 m

e.4m

o Watch Video Solution

16. Express in rupees, using decimals:

a. Rupees 26 and 75 paise


https://dl.doubtnut.com/l/_tHPu4BterNb9
https://dl.doubtnut.com/l/_2MGY1O5BQVLQ

b. Rupees 35 and 8 paise
c. Rupees 6 and 9 paise
d. 38 paise

e. 9 paise

f. 104 paise

o Watch Video Solution

17. Add: 27.8, 46,175.09 and 685.7

A.934.59

B. 93459


https://dl.doubtnut.com/l/_2MGY1O5BQVLQ
https://dl.doubtnut.com/l/_UTvoUoKcmZyv

C. 934.590

D. 934.89

Answer: A

° Watch Video Solution

18. Add: 67.25, 249, 8.785, 9.8 and 0.23

A. 335.065

B. 335.062

C. 338.062


https://dl.doubtnut.com/l/_UTvoUoKcmZyv
https://dl.doubtnut.com/l/_YnBQafaPJgDr

D. 325.062

Answer: A

° Watch Video Solution

19. A man covers a journey by car in 3 hours.
He covers a distance of 64 km 324 m during
the first hour, 58 km 56 m during the second
hour and 62 km 8 m during the third hour.

What is the length of his journey?

A. 180.684 km


https://dl.doubtnut.com/l/_YnBQafaPJgDr
https://dl.doubtnut.com/l/_mVMiHsCBm10m

B. 185.684 km

C. 127124 km

D. None of these

Answer: B

o Watch Video Solution

20. Ramesh purchased a book, a pen and a
notebook for ¥ 165.35, ¥ 72 and ¥ 14.85
respectively. How much money will he have to

pay to the shopkeeper for these items?


https://dl.doubtnut.com/l/_mVMiHsCBm10m
https://dl.doubtnut.com/l/_4TRQYFVuOlBl

A.X255.20

B. X252.20

C. X252.200

D. None of these

Answer: B

o Watch Video Solution

21. The weight of an empty gas cylinder is 18 kg

75 g. The weight of the gas contained in it is 12


https://dl.doubtnut.com/l/_4TRQYFVuOlBl
https://dl.doubtnut.com/l/_rQPTsx2Q8Ugu

kg 350 g. What is the total weight of the

cylinder filled with gas?

° Watch Video Solution

22.Subtract 35.87 from 63.2

° Watch Video Solution

23. Subtract 28.65 from 73.

A. 34.35


https://dl.doubtnut.com/l/_rQPTsx2Q8Ugu
https://dl.doubtnut.com/l/_UNcXaNnZjWDR
https://dl.doubtnut.com/l/_WuSNOQb9byMd

B.45.35

C.44.35

D. 22.35

Answer: C

o Watch Video Solution

24. Simplify: 53.5 — 34.68 + 64.75 — 28.9

o Watch Video Solution



https://dl.doubtnut.com/l/_WuSNOQb9byMd
https://dl.doubtnut.com/l/_TH9CmiD7G3sM
https://dl.doubtnut.com/l/_1i2CplMjt1Ny

25. Ramesh purchased a book worth ¥ 146.75
from a bookseller and gave him a 500-rupee

note. How much balance did he get back?

o Watch Video Solution

26. The weight of a cylinder filled with gas is 30
kg. If the weight of the empty cylinder is 14 kg

80 g find the weight of the gas contained in it.

o Watch Video Solution



https://dl.doubtnut.com/l/_1i2CplMjt1Ny
https://dl.doubtnut.com/l/_8aHQtYMIcIKQ

27. Monika went to the market with ¥ 3000 in
cash. Out of this money she purchased one
frock, one toy and one bag costing ¥ 578.75,%
309 and ¥ 1862.85 respectively. How much
money is left with her?

A.T 2494

B.T 249

C.¥ 2750.6

D.X 2894

Answer: A


https://dl.doubtnut.com/l/_Xlmnp663f9Mq

° Watch Video Solution

28. The distance between Richa's house and
her school hostel is 61 km. For reaching her
house from the hostel. she covers 54 km 860
m by taxi, 5 km 65 m by tanga and the rest of
the distance by rickshaw. How much distance

did Richa cover by rickshaw?

o Watch Video Solution



https://dl.doubtnut.com/l/_Xlmnp663f9Mq
https://dl.doubtnut.com/l/_NWE9Ngcc1o3x

29. The total weight of a bag containing 13 kg
750 g of potatoes and 8 kg 80 g of tomatoes is
22 kg 200 g. How much is the weight of the

empty bag?

° Watch Video Solution

1. Write in figures:

a. Fifty-eight point six three


https://dl.doubtnut.com/l/_HpGlZ6P7gVeM
https://dl.doubtnut.com/l/_Y3vdgfRwXUJE

b. One hundred twenty-four point four two five
c. Seven point seven six

d. Nineteen point eight

e. Four hundred four point zero four four

f. Point one seven three

g. Point zero one five

° Watch Video Solution

2. Write the place value of digit in the decimal
a.14.83

b.275.269


https://dl.doubtnut.com/l/_Y3vdgfRwXUJE
https://dl.doubtnut.com/l/_BOYVbVS33Nye

c.46.075

d.302.459

e. 5370.34

f.186.209

° Watch Video Solution

3. Write decimals in expanded form:
a.67.83

b. 283.61

C. 24.675

d. 0.294


https://dl.doubtnut.com/l/_BOYVbVS33Nye
https://dl.doubtnut.com/l/_hqN0SNvXAXhR

e. 8.006

f. 4615.72

° Watch Video Solution

4. Write in decimal form:

40 6+7+9

3 1 6
b.500 + 70 + 8 + 10 + 100 + 1000

8 4
L7004+-30+1 + — + ——
C + + 1+ 10 + 100

7 9
d.600 + 5+ — + ——
ot 100 i 1000

8 6
800 + 5
&S0+ 95 T o000

4 8
f.30 +9 + 100 + 1000

| =


https://dl.doubtnut.com/l/_hqN0SNvXAXhR
https://dl.doubtnut.com/l/_RexfSVsxuU1k

I &9 Watch Video Solution I

5. Convert into like decimals:
a./.5,64.23,0.074
b.0.6,5.937,2.36,4.2

c. 1.6,0.07,3.58, 2.9

d. 2.5, 0.63, 14.08, 1.637

° Watch Video Solution

6. Fill in the place holders with the correct

symbol > or < :


https://dl.doubtnut.com/l/_RexfSVsxuU1k
https://dl.doubtnut.com/l/_mCojGZhbxy7r
https://dl.doubtnut.com/l/_saeU2L17Fd9z

a.84.23 [ 76.35

b.7.608 [] 7.68

c.834 [] 843

d.12.06 [] 12.006

e.3.85 [] 3.805

f.0.97 I 1.07

° Watch Video Solution

7. Arrange the decimals in ascending order:
a.5.8,7.2,5.69, 714, 5.06

b. 0.6, 6.6, 6.06, 66.6, 0.06


https://dl.doubtnut.com/l/_saeU2L17Fd9z
https://dl.doubtnut.com/l/_8tU2CZS5qhNU

C.6.54,6.45,64,6.5,6.05

d. 3.3, 3.303, 3.033, 0.33, 3.003

° Watch Video Solution

8. Arrange the decimals in descending order:
a./7.3,8.73,73.03,7.33,8.073

b. 3.3, 3.03, 30.3, 30.03, 3.003
c.2.7,7.2,2.27,2.72,2.02, 2.007

d. 8.088, 88.8, 88.08, 8.008

° Watch Video Solution



https://dl.doubtnut.com/l/_8tU2CZS5qhNU
https://dl.doubtnut.com/l/_7qH5vVwNuPy3

1. Convert into a fraction in its simplest form:

0.9

o Watch Video Solution

2. Convert into a fraction in its simplest form:

0.6

° Watch Video Solution



https://dl.doubtnut.com/l/_GrwIOXqYEH2x
https://dl.doubtnut.com/l/_M29LpEuQjig1
https://dl.doubtnut.com/l/_e9rSYLUYJof1

3. Convert into a fraction in its simplest form:

0.08

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_e9rSYLUYJof1

4. Convert into a fraction in its simplest form:

0.15

o Watch Video Solution

5. Convert into a fraction in its simplest form:

048

o Watch Video Solution



https://dl.doubtnut.com/l/_7sQx9YN1D2QC
https://dl.doubtnut.com/l/_ZSg8YdSB2Uc7

6. Convert into a fraction in its simplest form:

0.053

o Watch Video Solution

7. Convert into a fraction in its simplest form:

0.125

o Watch Video Solution



https://dl.doubtnut.com/l/_LiKYqBUC2xZB
https://dl.doubtnut.com/l/_wo1sUI7XAcvD

8. Convert into a fraction in its simplest form:

0.224

° Watch Video Solution

9. Convert as a mixed fraction:

6.4

o Watch Video Solution



https://dl.doubtnut.com/l/_idxxAcCvQKXg
https://dl.doubtnut.com/l/_kaMxvJFArgP6

10. Convert as a mixed fraction:

16.5

o Watch Video Solution

11. Convert as a mixed fraction:

8.36

o Watch Video Solution



https://dl.doubtnut.com/l/_DvfmR5GmT2k8
https://dl.doubtnut.com/l/_pj40UZ9S1JTy

12. Convert as a mixed fraction:

4.275

o Watch Video Solution

13. Convert as a mixed fraction:

25.06

o Watch Video Solution



https://dl.doubtnut.com/l/_OoBXptCfBkAu
https://dl.doubtnut.com/l/_dEfwpqR49m1j

14. Convert as a mixed fraction:

7.004

o Watch Video Solution

15. Convert as a mixed fraction:

2.052

o Watch Video Solution



https://dl.doubtnut.com/l/_O5Wm5VJIqXP5
https://dl.doubtnut.com/l/_nGnbsJUlrtPa

16. Convert as a mixed fraction:

3.108

o Watch Video Solution

17. Convert into a decimal:

32
10

o Watch Video Solution



https://dl.doubtnut.com/l/_s5Ql5n3nUGcF
https://dl.doubtnut.com/l/_iSiTBnRAqsGB

18. Convert into a decimal:

167
100

o Watch Video Solution

19. Convert into a decimal:

1589
100

o Watch Video Solution



https://dl.doubtnut.com/l/_kgvUCRvWPUHI
https://dl.doubtnut.com/l/_nqGnPMHGmumv

20. Convert into a decimal:

5413
1000

° Watch Video Solution

21. Convert into a decimal:

21415

1000

o Watch Video Solution



https://dl.doubtnut.com/l/_qY8PeeYIXSsd
https://dl.doubtnut.com/l/_RjjilNx2MMJq

22. Convert into a decimal:

25
4

o Watch Video Solution

23. Convert into a decimal:

33
5

o Watch Video Solution



https://dl.doubtnut.com/l/_CMzuDVYIsSlh
https://dl.doubtnut.com/l/_H6zNYL2x8xiU

24.Convert into a decimal:

4
1—
25

o Watch Video Solution

25. Convert into a decimal:

17
50

o Watch Video Solution



https://dl.doubtnut.com/l/_isiRkhau2qCm
https://dl.doubtnut.com/l/_B4TPlnnKNhG4

26. Convert into a decimal:

123
8

o Watch Video Solution

27. Convert into a decimal:

5 19
40

o Watch Video Solution



https://dl.doubtnut.com/l/_ZlSqFrvZEd30
https://dl.doubtnut.com/l/_BOTvv0oxkAGV

28. Convert into a decimal:

19
20

o Watch Video Solution

29. Convert into a decimal:

37
50

o Watch Video Solution



https://dl.doubtnut.com/l/_KzsSYSLhuUAB
https://dl.doubtnut.com/l/_ma2RN6peFZdx

30. Convert into a decimal:

107
250

° Watch Video Solution

31. Convert into a decimal:

3
40

o Watch Video Solution

7
32. Convert into a decimal: 3



https://dl.doubtnut.com/l/_MlNN9te6NRds
https://dl.doubtnut.com/l/_0r3mhEMJpkZm
https://dl.doubtnut.com/l/_bnle91nJXlVu

o Watch Video Solution

33. Using decimals, express
a.8 kg 640 g in kllograms
b.9 kg 37 g in kilograms

c. 6 kg 8 g in kilograms

° Watch Video Solution

34.Using decimals, express

a. 4 km 365 m in kilometres


https://dl.doubtnut.com/l/_bnle91nJXlVu
https://dl.doubtnut.com/l/_BGM5ruKayqBi
https://dl.doubtnut.com/l/_fzGjzzd97rSi

b. 5 km 87 m in kilometres

c. 3 km 6 m in kilometres

d. 270 m in kilometres

e. 35 m in kilometres

f.6 m in kilometres

° Watch Video Solution

35. Using decimals, express
a. 15 kg 850 g in kilograms

b.8 kg 96 g in kilograms


https://dl.doubtnut.com/l/_fzGjzzd97rSi
https://dl.doubtnut.com/l/_FOaLyprBwnIM

c. 540 g in kilograms

d. 8g in kilograms

° Watch Video Solution

36. Using decimals, express
a.%18 and 25 paise in rupees
b.%9 and 8 paise in rupees
c. 32 paise in rupees

d. 5 paise in rupees

° Watch Video Solution



https://dl.doubtnut.com/l/_FOaLyprBwnIM
https://dl.doubtnut.com/l/_RaZOQg6goD8z

1. Add the decimals:

9.6,14.8,37 and 5.9

o Watch Video Solution

2. Add the decimals:

23.7,106.94, 68.9 and 29.5

° Watch Video Solution



https://dl.doubtnut.com/l/_UcFvoSJIFQTf
https://dl.doubtnut.com/l/_dLWPcncPoKZ2
https://dl.doubtnut.com/l/_VvD2hyAkE8cv

3. Add the decimals:

72.8.7.68,16.23 and 0.7

o Watch Video Solution

4. Add the decimals:

18.6. 84.75,8.345 and 9.7

° Watch Video Solution

5. Add the decimals:

8.236. 16.064. 63.8 and 27.53


https://dl.doubtnut.com/l/_VvD2hyAkE8cv
https://dl.doubtnut.com/l/_1yq9skYTinfm
https://dl.doubtnut.com/l/_Bq597Ts4T8JS

° Watch Video Solution

6. Add the decimals:

28.9.19.64,123.697 and 0.354

o Watch Video Solution

7. Add the decimals:

4.37,9.638,17.007 and 6.8

° Watch Video Solution



https://dl.doubtnut.com/l/_Bq597Ts4T8JS
https://dl.doubtnut.com/l/_Q3zYYxL2nbCi
https://dl.doubtnut.com/l/_9NToqVMMOsFW
https://dl.doubtnut.com/l/_l0MqmAdCUTLK

8. Add the decimals:

14.5,0.038, 118.573 and 6.84

o Watch Video Solution

9. During three days of a week, a rickshaw
puller earns 33260, 35680 and %72
respectively. What is his total earning during

these days?

° Watch Video Solution



https://dl.doubtnut.com/l/_l0MqmAdCUTLK
https://dl.doubtnut.com/l/_CjTmYETziTYz
https://dl.doubtnut.com/l/_jeErTiO3ksbU

10. A man purchases an almirah for ¥ 11025,
gives ¥ 172.50 as its cartage and spends ¥
64.80 on its repair. How much does the

almirah cost him?

o Watch Video Solution

11. Ramesh covers 36 km 235 m by taxi, 4 km 85
m by rickshaw and 1 km 80 m on foot. What is

the total distance covered by him?

o Watch Video Solution



https://dl.doubtnut.com/l/_jeErTiO3ksbU
https://dl.doubtnut.com/l/_muUcRQKB7q1k
https://dl.doubtnut.com/l/_31muA48qTEAV

12. A bag contains 45 kg 80 g of sugar and the
mass of the empty bag is 950 g. What is the
mass of the bag containing this much of

sugar?

° Watch Video Solution

13. Ramu bought 2 m 70 cm cloth for his shirt
and 2 m 60 cm cloth for his pyjamas. Find the

total length of cloth bought by him.

° Watch Video Solution



https://dl.doubtnut.com/l/_31muA48qTEAV
https://dl.doubtnut.com/l/_DWN1t4n4HlpW

14. Shikha bought 2m 5cm cloth for her salwar
and 3m 35cm cloth for her shirt. Find the total

length of cloth bought by her.

° Watch Video Solution

1. Subtract:

27.86 from 53.74

I o Watch Video Solution


https://dl.doubtnut.com/l/_DWN1t4n4HlpW
https://dl.doubtnut.com/l/_g4mc1KgBIN7J
https://dl.doubtnut.com/l/_5t5d3bWV49MQ

2. Subtract:

64.98 from 103.87

° Watch Video Solution

3. Subtract:

59.63 from 92.4

o Watch Video Solution



https://dl.doubtnut.com/l/_5t5d3bWV49MQ
https://dl.doubtnut.com/l/_gsNzmRX0dOv6
https://dl.doubtnut.com/l/_yS2NmaV07MDL

4, Subtract:

56.8 from 204

o Watch Video Solution

5. Subtract:

127.38 from 216.2

o Watch Video Solution



https://dl.doubtnut.com/l/_R6CHhVF6SvwK
https://dl.doubtnut.com/l/_L3sf2dEI2Xcf

6. Subtract:

39.875 from 70.68

o Watch Video Solution

7. Subtract:

348.237 from 52312

o Watch Video Solution



https://dl.doubtnut.com/l/_ykxdTEg9iTy9
https://dl.doubtnut.com/l/_W2OOR2VU6laZ

8. Subtract:

458.573 from 600

o Watch Video Solution

9. Subtract:

149.456 from 206.321

o Watch Video Solution



https://dl.doubtnut.com/l/_JtKL6Ueg9F0F
https://dl.doubtnut.com/l/_a6sCtoxUWqbM

10. Subtract:

0.612 from 3.4

o Watch Video Solution

11. Simplify:

37.6 +72.85-58.678 - 6.09

o Watch Video Solution



https://dl.doubtnut.com/l/_9WYGCQNGvaPC
https://dl.doubtnut.com/l/_jkKE1zLEqKvv

12. Simplify:

75.3 -104.645 +178.96 -47.9

o Watch Video Solution

13. Simplify:

2134 - 56.84 - 11.87 - 16.087

o Watch Video Solution



https://dl.doubtnut.com/l/_aJbSlLOEqfdn
https://dl.doubtnut.com/l/_MP5j0LbnCnde

14. Simplify:

76.3 — 7.666 - 6.77

o Watch Video Solution

15. What is to be added to 74.5 to get 917

o Watch Video Solution

16. What is to be subtracted from 7.3 to get

0.862?



https://dl.doubtnut.com/l/_wNZXLBbZibCF
https://dl.doubtnut.com/l/_BC6Y95Jioecq
https://dl.doubtnut.com/l/_6rtfyZfrRX2R

o Watch Video Solution

17. By how much should 23.754 be increased to

get 507

A. 26.2467

B. 26.246

C.26.46

D. 73.754

Answer: B

[ o Watch Video Solution


https://dl.doubtnut.com/l/_6rtfyZfrRX2R
https://dl.doubtnut.com/l/_BSGEMlSWw8VV

18. By how much should 84.5 be decreased to

get 27.847

o Watch Video Solution

19. If the school bags of Neelam and Garima
weight 6 kg 80 g and 5 kg 265 g respectively,

whose bag is heavier and by how much?

o Watch Video Solution



https://dl.doubtnut.com/l/_BSGEMlSWw8VV
https://dl.doubtnut.com/l/_wMkeLsb4GLkT
https://dl.doubtnut.com/l/_xasPiOp0WYaM
https://dl.doubtnut.com/l/_HsUU7vJfUstU

20. Kunal purchased a notebook for ¥ 19.75. a
pencil for ¥ 3.85 and a pen for ¥ 8.35 from a
book shop. He gave a 50-rupee note to the

shopkeeper. What amount did he get back?

o Watch Video Solution

21. Suman purchased 5kg75g of fruits and
3kg465g of vegetables, and put them in a bag.
If this bag with these contents weighs 9kg,

find the weight of the empty bag.


https://dl.doubtnut.com/l/_HsUU7vJfUstU
https://dl.doubtnut.com/l/_YDfCVD1igZOl

A. 460kg

B. 400¢g

C. 460g

D. 409¢g

Answer: C

o Watch Video Solution

22. The distance between Reeta's house and
her office is 14 km. She covers 10 km 65 m by

scooter, 3 km 75 m by bus and the rest on foot.


https://dl.doubtnut.com/l/_YDfCVD1igZOl
https://dl.doubtnut.com/l/_pOIYBK39t2A5

How much distance does she cover by

walking?

° Watch Video Solution

1. Mark against the correct answer

B.1.7


https://dl.doubtnut.com/l/_pOIYBK39t2A5
https://dl.doubtnut.com/l/_dU3ZqSTrsdCN

C.0.7

D. 0.07

Answer: C

° Watch Video Solution

2. Mark against the correct answer
2
100

A. 51

B. 5.01


https://dl.doubtnut.com/l/_dU3ZqSTrsdCN
https://dl.doubtnut.com/l/_Gg7KBgMIrf6r

C.05

D. 0.05

Answer: D

° Watch Video Solution

3. Mark against the correct answer

'(9)/(1000)=?"

A. 0.0009

B. 0.009


https://dl.doubtnut.com/l/_Gg7KBgMIrf6r
https://dl.doubtnut.com/l/_hWhbGDMMrx3C

C.9.001

D. none of these

Answer: B

° Watch Video Solution

4. Mark against the correct answer

6,
1000
A.0.016

B.0.16


https://dl.doubtnut.com/l/_hWhbGDMMrx3C
https://dl.doubtnut.com/l/_9FHwgX1VaZoj

C. 0.0016

D. 1.006

Answer: a

° Watch Video Solution

5. Mark against the correct answer

'(134)/(1000)=?"

A. 134

B.1.34


https://dl.doubtnut.com/l/_9FHwgX1VaZoj
https://dl.doubtnut.com/l/_mArLxR9VdRyZ

C.0.134

D. 0.0134

Answer: C

° Watch Video Solution

6. Mark against the correct answer

17
700

A. 217

B. 2.017


https://dl.doubtnut.com/l/_mArLxR9VdRyZ
https://dl.doubtnut.com/l/_aCmdCoDLU6La

C.0.217

D. 21.7

Answer: A

° Watch Video Solution

7. Mark against the correct answer

4 3
100

A .43

B.4.03


https://dl.doubtnut.com/l/_aCmdCoDLU6La
https://dl.doubtnut.com/l/_qr6wpwYiWlVP

C.4.003

D. 43.1

Answer: B

° Watch Video Solution

8. Mark against the correct answer

6.25=?


https://dl.doubtnut.com/l/_qr6wpwYiWlVP
https://dl.doubtnut.com/l/_4Kg03hB5vQ40

C621
2

D. none of these

Answer: B

° Watch Video Solution

9. Mark against the correct answer

6

25

A 24

B.0.24


https://dl.doubtnut.com/l/_4Kg03hB5vQ40
https://dl.doubtnut.com/l/_A4Q9a5JAx84c

C.0.024

D. none of these

Answer: C

° Watch Video Solution

10. Mark against the correct answer

7
4= =7
8

A.4.78

B.4.87


https://dl.doubtnut.com/l/_A4Q9a5JAx84c
https://dl.doubtnut.com/l/_02IneP7A6tKj

C.4.875

D. none of these

Answer: C

° Watch Video Solution

11. Mark against the correct answer

248 =7
4
A 24—

5

B. 24—


https://dl.doubtnut.com/l/_02IneP7A6tKj
https://dl.doubtnut.com/l/_XirhoZI7G3YI

C241
5

D. none of these

Answer: A

° Watch Video Solution

12. Mark against the correct answer

21—‘?
25

A 24

B.2.04


https://dl.doubtnut.com/l/_XirhoZI7G3YI
https://dl.doubtnut.com/l/_JFsQyuI10m8b

C. 2.004

D. none of these

Answer: B

° Watch Video Solution

13. Mark against the correct answer

3 4
— ?
TR T

A. 2304

B.2.403


https://dl.doubtnut.com/l/_JFsQyuI10m8b
https://dl.doubtnut.com/l/_5RiQNEE6IWXs

C.2.34

D. none of these

Answer: C

° Watch Video Solution

14. Mark against the correct answer

'2+(6)/(100)=?"

A. 2.006

B. 2.06


https://dl.doubtnut.com/l/_5RiQNEE6IWXs
https://dl.doubtnut.com/l/_4c3uMkZpOUeE

C.2.6

D. none of these

Answer: B

° Watch Video Solution

15. Mark against the correct answer

4 T,
100 ' 10000

A.047

B. 0.407


https://dl.doubtnut.com/l/_4c3uMkZpOUeE
https://dl.doubtnut.com/l/_7c5yIlEss3eE

C. 0.0407

D. none of these

Answer: C

o Watch Video Solution

16. Mark against the correct answer

The correct expanded form of 2.06 is

A.(2><10)—|—(6>< 1—10)

B.(2><1)—|—<6><1—10)


https://dl.doubtnut.com/l/_7c5yIlEss3eE
https://dl.doubtnut.com/l/_smyoZuey1MWn

C.(2x1 6 X L
(2> 1) + 1000

D. none of these

Answer: D

o Watch Video Solution

17. Mark against the correct answer
Among 2.6, 2.006, 2.66 and 2.08, the largest

number is

A. 2.006


https://dl.doubtnut.com/l/_smyoZuey1MWn
https://dl.doubtnut.com/l/_tM9XrsJ1OJEF

B. 2.08

C.2.6

D. 2.66

Answer: D

o Watch Video Solution

18. Mark against the correct answer

Which of the following is the correct order?

A 2.2 <202 <2002 < 2.222


https://dl.doubtnut.com/l/_tM9XrsJ1OJEF
https://dl.doubtnut.com/l/_X2s8hf44VUKs

B.2.002 < 2.02 < 2.2 > 2.222

C.2.02 < 2.22 > 2.002 < 2.222

D. none of these

Answer: B

o Watch Video Solution

19. Mark against the correct answer

Which is larger: 2.1 or 2.055?

A 21


https://dl.doubtnut.com/l/_X2s8hf44VUKs
https://dl.doubtnut.com/l/_Y3UqN8L52a7D

B. 2.055

C. cannot be compared

D. Both are equal

Answer: A

o Watch Video Solution

20. Mark against the correct answer

lem = 7

A.01m


https://dl.doubtnut.com/l/_Y3UqN8L52a7D
https://dl.doubtnut.com/l/_WzjcCHHbJEIB

B.0.01 m

C.0.001 m

D. none of these

Answer: c

o Watch Video Solution

21. Mark against the correct answer

2mbem = 7

A 25


https://dl.doubtnut.com/l/_WzjcCHHbJEIB
https://dl.doubtnut.com/l/_Svkx59emgysj

B.2.05m

C.2.005m

D.0.25m

Answer: B

o Watch Video Solution

22. Mark against the correct answer

2kg8qg = 7

A.2.8 kg


https://dl.doubtnut.com/l/_Svkx59emgysj
https://dl.doubtnut.com/l/_FN3KAh6UPuno

B.2.08 kg

C.2.008 kg

D. none of these

Answer: B

o Watch Video Solution

23. Mark against the correct answer

2kgbbg = 7

A.2.56 kg


https://dl.doubtnut.com/l/_FN3KAh6UPuno
https://dl.doubtnut.com/l/_k90uGN2qNAHB

B. 2.056 kg

C. 2.560 kg

D. none of these

Answer: B

o Watch Video Solution

24. Mark against the correct answer

2km35m = 7

A. 2.0350 km


https://dl.doubtnut.com/l/_k90uGN2qNAHB
https://dl.doubtnut.com/l/_M20H5klp5tcl

B.2350 m

C.2.035 km

D. none of these

Answer: C

o Watch Video Solution

25. Mark against the correct answer

0.4+0.004 +44=7

A. 4.444


https://dl.doubtnut.com/l/_M20H5klp5tcl
https://dl.doubtnut.com/l/_tlbeTEQkjOe5

B.5.2

C.4.804

D. 5404

Answer: C

o Watch Video Solution

26. Mark against the correct answer

3.5+ 4.05 —-6.005 = 7

A. 1445


https://dl.doubtnut.com/l/_tlbeTEQkjOe5
https://dl.doubtnut.com/l/_tVK6pwgOK3dM

B. 1.095

C.1.6

D. none of these

Answer: A

o Watch Video Solution

27. Mark against the correct answer

6.3 —2.8=7

A.0.35


https://dl.doubtnut.com/l/_tVK6pwgOK3dM
https://dl.doubtnut.com/l/_3GCNVSfVsqAM

B.3.5

C.3.035

D. none of these

Answer: B

o Watch Video Solution

28. Mark against the correct answer

5,01 — 3.6 = 7

A. 4.65


https://dl.doubtnut.com/l/_3GCNVSfVsqAM
https://dl.doubtnut.com/l/_ooGNfjNcG8ZF

B.1.95

C. 141

D. none of these

Answer: C

o Watch Video Solution

29. Mark against the correct answer

2-07=7

A 13


https://dl.doubtnut.com/l/_ooGNfjNcG8ZF
https://dl.doubtnut.com/l/_YRrEjILZWX0r

B.1.5

C.2.03

D. none of these

Answer: A

o Watch Video Solution

30. Mark against the correct answer

1.1-03=7

A.08


https://dl.doubtnut.com/l/_YRrEjILZWX0r
https://dl.doubtnut.com/l/_HPl7svIELNFg

B. 0.08

C.8

D. none of these

Answer: A

o Watch Video Solution

Test Paper 7

5
1. Convert 4§ into a decimal fraction.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_HPl7svIELNFg
https://dl.doubtnut.com/l/_tCyNuDCHuMBJ

2. Express 105 cm into metres using decimals.

° Watch Video Solution

3. Express 6 km 5 m as km using decimals.

° Watch Video Solution

4. Express 8 m as kilometre using decimals.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_tCyNuDCHuMBJ
https://dl.doubtnut.com/l/_AUQSxabToAox
https://dl.doubtnut.com/l/_EQToAQjvHnPj
https://dl.doubtnut.com/l/_EokZT8X3AtNf

5. Add 26.4,163.05, 8.75 and 5.6.

A. 181.09

B. 203.08

C.197.75

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EokZT8X3AtNf
https://dl.doubtnut.com/l/_qJUpiotnarzo
https://dl.doubtnut.com/l/_KD0X3cMGrDsI

6. Subtract 0.528 from 3.2.

o Watch Video Solution

7.What is to be added to 63.5 to get 717

o Watch Video Solution

8. What is to be subtracted from 13 to get 5.4?

A. 76


https://dl.doubtnut.com/l/_KD0X3cMGrDsI
https://dl.doubtnut.com/l/_TSpejgXoPP6S
https://dl.doubtnut.com/l/_1udF5iUAxEZB

B.7.06

C.6.67

D. 6.06

Answer: A

o Watch Video Solution

9. Arrange the following
descending order:

6.5, 6.05, 6.54, 6.4 and 6.45

decimals

in

I o Watch Video Solution


https://dl.doubtnut.com/l/_1udF5iUAxEZB
https://dl.doubtnut.com/l/_I2xaEn7VJuWa

10. Convert into a fraction in simplest form:
a.04

b.0.35

c. 0.08

d.0.075

o Watch Video Solution

11. Mark against the correct answer

(3)/(25)=7"


https://dl.doubtnut.com/l/_I2xaEn7VJuWa
https://dl.doubtnut.com/l/_0LvigQdCPsAi
https://dl.doubtnut.com/l/_6VHCTo6BGzD8

A 1.2

B.0.12

C.0.012

D. none of these

Answer: B

° Watch Video Solution

12. Find the value of :-
6 _,
1000


https://dl.doubtnut.com/l/_6VHCTo6BGzD8
https://dl.doubtnut.com/l/_Cv1fYVOUaDCD

A. 6.001

B. 0.0006

C. 0.006

D. 0.06

Answer: C

o Watch Video Solution

13. Mark against the correct answer

2(3)/(100)


https://dl.doubtnut.com/l/_Cv1fYVOUaDCD
https://dl.doubtnut.com/l/_OPnkzEjPg3ZC

A.2.003

B.2.03

C.23

D. none of these

Answer: B

° Watch Video Solution

14. Mark against the correct answer

the place value of 3 in 16.534 is


https://dl.doubtnut.com/l/_OPnkzEjPg3ZC
https://dl.doubtnut.com/l/_mugHGiCYnQfY

Answer: B

o Watch Video Solution

15. Mark against the correct answer


https://dl.doubtnut.com/l/_mugHGiCYnQfY
https://dl.doubtnut.com/l/_WL3Q1UGP0zW9

A.4.78

B.4.87

C.4.875

D. none of these

Answer: C

o Watch Video Solution

16. Mark against the correct answer

591 — 3.6 = 7


https://dl.doubtnut.com/l/_WL3Q1UGP0zW9
https://dl.doubtnut.com/l/_1kE7Gyrv4fya

A.4.65

B.1.95

C. 141

D. none of these

Answer: D

o Watch Video Solution

17. Mark against the correct answer

3.5+ 4.05—-6.005 = 7


https://dl.doubtnut.com/l/_1kE7Gyrv4fya
https://dl.doubtnut.com/l/_zGQL1BXcZhXf

A. 1.545

B.1.95

C. 141

D. none of these

Answer: A

° Watch Video Solution

18. Mark against the correct answer

'(4)/(100)+(7)/(10000)=?"


https://dl.doubtnut.com/l/_zGQL1BXcZhXf
https://dl.doubtnut.com/l/_K3njUr2QOY46

A.047

B. 0.407

C. 0.0407

D. none of these

Answer: C

o Watch Video Solution

19. Mark against the correct answer
Among 2.6, 2.006,2.66 and 2.8 the largest

number is


https://dl.doubtnut.com/l/_K3njUr2QOY46
https://dl.doubtnut.com/l/_xrS8I9nSWrqo

A. 2.006

B.2.38

C.2.6

D.-2.66

Answer: B

° Watch Video Solution

20. Fill in the blanks.



https://dl.doubtnut.com/l/_xrS8I9nSWrqo
https://dl.doubtnut.com/l/_3UOqbsRGV6Ao

21.Fill in the blanks.

° Watch Video Solution

22.Fill in the blanks.

o Watch Video Solution



https://dl.doubtnut.com/l/_3UOqbsRGV6Ao
https://dl.doubtnut.com/l/_SQa0tBr6gl8s
https://dl.doubtnut.com/l/_rBnaEOgHZl4l

23. Fill in the blanks.

2m8em = .......m

A.20.8

B. 2.0008

C.2.08

D. 2.008

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_w3oK3EA2zRiw
https://dl.doubtnut.com/l/_q0X4EtrGba6z

24. Fill in the blanks.

3.02,4.75,1.63 are examples of ....... Decimals.

° Watch Video Solution

25, write 'T' for true and 'F' for false for given
statements:

3.02 < 3.2

° Watch Video Solution



https://dl.doubtnut.com/l/_q0X4EtrGba6z
https://dl.doubtnut.com/l/_EAgNOY4aXs9H

26. write 'T' for true and 'F' for false for given
statements:

3g = 0.003kg

o Watch Video Solution

27. write 'T' for true and 'F' for false for given

statements:

341

—— = 3.41
1000 3-410

o Watch Video Solution



https://dl.doubtnut.com/l/_47yC0SWmnuno
https://dl.doubtnut.com/l/_4HbO4uEBj2Mv
https://dl.doubtnut.com/l/_YECedQ3U6Irp

28. write 'T' for true and 'F' for false for given
statements:

6.2 and 6.200 are equivalent decimals.

o Watch Video Solution

29. write 'T' for true and 'F' for false for given
statements:
2.3, 341, 453, 561 are examples of like

decimals.

° Watch Video Solution



https://dl.doubtnut.com/l/_YECedQ3U6Irp
https://dl.doubtnut.com/l/_N6Y0eewdcZPw




